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Notations:

1. Options shown in green color and with ¢’ icon are correct.

2. Options shown in red color and with * icon are incorrect.
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e Cut Off: 10

e Duration: 120

e Number of Questions: 120

e Total Marks: 120.0

o Status: Sealed

Junior Executive ATC Shift 1

Number of optional sections to be attempted: 0, Group Maximum duration: 0, Group Minimum duration : 120, Group Marks :120.0,
Revisit allowed for view? : No, Revisit allowed for edit? : No, Break time: (0

Physics and Mathematics
Section type : Online, Number of Questions to be attempted:60, Mandatory or Optional: Mandatory, Section Marks: 60.0
Subsection : 1, Question Shuffling Allowed : Yes

Question id : 5917  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
A subway train starts from rest at a station and accelerates at a rate of 2ms - for 10s. It then runs ata

= . i %
constant speed for 30s and deaccelerates at 4ms™ until 1t stops at the next station. The distance
between the two stations is:

Options :

1. % 650m
2. % 700m
3. ¥ 750m
4. % 800m

Question id : 5917 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U AT Y O HaET ¥ ek Teud § Tl & AN 10s dw 2ms? Fr ¥ F i

Ferdr &1 zU% a1g % Yo 30s d%F HuRadeeer g § gisdr § 3R 3 e Teua
W T dF dmsZ T eT ¥ AT F FH T 1 g TAAT & T A gl e &
Options :

1. % 650m

2. % J00m

3.+ 750m

4. % 800m

Question id : 5918 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Which of the following quantities is a vector?

Options :

1. ¥ Area
2. % Volume
3. % Angle
4. % Speed

Question id : 5918 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
frafaf@a & 9 &ia d aer afger §2

Options :
1. &l
2. % 3adel
3. % @ior
4. % iy
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Question id : 5919  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the universal gravitational constant were decreasing with time. then satellite in orbit would still
matntain its:

Options :
1. % Orbital radius

2.+ Angular momentum
3. # Tangential speed

4. % Period of revolution

Question id : 5919  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afe GraelfA® TEcarrdor FeRle §AT & @19 °¢ 6T 81 ol $a A 39U ad ol 3T SA0 § T g @A

Options :

1. ¥ s G

2. woiE Haar
3. % FeREr it
4. % giigHTT &t Hafd

Question id : 5920  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The velocity with which a projectile must be fired so that it escapes earth’s gravitation does not
depend on:

Options :

1. % Mass of the earth
2.« Mass of the projectile.
3. # Radius of the orbit.

4. % Gravitational constant.

Question id : 5920  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
a5 991 foI¥ WX Usk Waltd ©IST ST g WigU dlfds I g2dl & Ecaihuor ¥ aipy foldel S1v, Sod & fae or e A6 b

Options :

1. % gt & gegArT
2. yardt & gegaE|
3. % et &7 F=m
4, % FEcarEuoT REERTE|

Question id : 5921  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The second law of thermodynamics introduces the concept of:

Options :

1. % Heat

2. % Temperature
3.« Entropy

4, % Internal energy of the system

Question id : 5921  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FCHATTCERT T g8 A a9 & fane 3/auRon &7 |e] addl o

Options :

1. % FsAT

2. % dOHT

3. uerdr

4. % gomelr 1 A Far

Question id : 5922  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The manifestation of band structure in solids 15 a consequence of

Options :
1. # Heisenberg s uncertamnty principle
A il Danli’e avnlonime oeionmaela

4. % Ohm’s law

Question id : 5922  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
a9 #H d5 Gar & uede sad ¥ fohawr aRond &
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Options :
1. % gooidgd & ATTdar &1 e

2. gr3ell FT H9dee & THEd

3. % g T TS 1 [Ogid
4. % 3EH &7 T

Question id : 5923  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A disc shaped magnet levitate above a superconducting material that has been cooled by liquud
nitrogen. This happens because a superconductor is:

Options :

1. % Diamagnetic
2. % Nonmagnetic
3, # Paramagnetic

4. % Ferromagnetic

Question id : 5923  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
aver Aselsla # &3 fahv U vas Tk dard & I Ueh TSTheiAT dFas Gdl H 36MT 41 B U6 SHIGU gidr § adiie sfdareie

Options :
1. v wfagrade &
2. % IR-FFadE §
3. % STEEHE §
4. % dggFadT

Question id : 5924  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

An 1deal gas engine operates in a Cameot cycle. It absorbs heat at a temperature Ty and exhausts heat

at T>. The efficiency of this engine 1s:
Options :

L (T =TTy

2. % (T1+TT

3.% (T -Ty)'T,

4. % TyTy

Question id : 5924  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T e I S @ete 9F 7 IiEiTed piaT & O a9 T 9 ST S HaeiiEg aar § AR Ty 9T FEAT F TeEEd #ar £ 59 S

Options :

1. (Tq - To)fTy
2. % (Tq + To)fTy
3.% (Tq - TolfTy
4.% Ty,

Question id : 5925  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Superposition of two waves trains of same amplitudes and nearly same frequencies. moving in the
same direction. results m the formation of beats. The maximum loudness heard at the waxing 15 n
times the loudness of each of the component wave tramns. The value of n 1s:

Options :
1. % 1
2. %2
3.4
4. % 8

Question id : 5925  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T & AAA $T 3T TR U & Hgfcd fT U g ferm F T Wl el aur-AeE &

RO & IROTH Te alar o) A & GHT Gl a5 ATOEaH waedl, Fow
e TITHTAT @l Udeldl & n al &1 N & Al Sa8 § &7 &

2.8 2
3.9 4
4.% 8
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Question id : 5926  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

An earthquake generates both transverse (8) and longitudinal (P) waves in earth. The speed of §

waves is about 4.5kms™! and that of P wave 8.0kms™. A seismo graph records P and S waves from an
earthquake. The first P wave arrives 4.0 min before the first S wave. The epicenter is located at a
distance of about:

Options :

1. ¥ 25km

2. % 250 km
3. v 2500 km
4. % 25000 km

Question id : 5926  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

TE ST gl H e (S) AR e (P) @REr g 3c9es el g1 S awen &
i wEmsmEr 4.5kms™! 3R P A & afd 8.0 kms™1 B U sphuerdl sy & PO
S TR T gt FIAT 1 TEeN PR, Ggel S @RI & ;A & 4.0 fAde gg ggeh ¢
sea-the, ST fhae gl WX B

Options :

1. % 25km

2. % 250km

3.+ 2500km

4. % 25000km

Question id : 5927 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Quantization of electric charge 15 demonstrated by:

Options :

1. " Millikan’s o1l drop experiment

2. % Thompson’s experiment

3. % Rutherford's o-ray scattering experiment

4, # Stern- Gerlach expeniment

Question id : 5927 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
faega smaer &1 aRomHIEwT (Quantization) fawas garT wefda fear simar &

Options :
1. TAfoe &1 el &1 dg &1 T

"

2. % o{Fq¥e] &7 WATET
3. % IETWIE FT o-¥ THETIT FT 9I=T
4. % Teol- LONE & TAET

Question id : 5928 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Ampere’ circuital law can be expressed as:
Options :

1. VXB=p]

2.% VXB=0

3. % gradB=10

4. % DivB=0

Question id : 5928 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
RN FT ggea oA efaiaa & 8 B &9 & o99d e o1 @ &

Options :
1.¥ VXB=p]

2.% VXB=0
3.% grad B =0
4. % DivB =0

Muactian id - K070 Nnactian Tyvna - MCN (Carvact + 10 Wrana - 0 M

Options :
1.v 1r

2. ® 1..-1.2
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3.8

4.% 2

Question id : 5929  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
M & A F HFER, UH HIRAT FF A G gde HERT dR & FRT foega &

o g w7 & Sedan 34T &

Options :

1.+ 1ir

2. % 12

3.8 1

4. ® r2

Question id : 5930  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A rectangular loop of sides 13cm and 10cm. carrying a current of 1A 13 placed with its longer side

parallel to long straight wire carryving a current of 2A placed at distance of 2cm. The net force
expertenced by the loop 1s :

Options :
1. ¢ 25 x 107 N towards the longer side.
2.% 25x 10"N away from the longer side.

3. % 30x107 N towards the longer side
4. % 30%107 N away from the longer side

Question id : 5930  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
15cm 3R 10cm & T3 arel Uk AR o @, S 1A & fdegd vag & ags

awm%,x%ﬁaﬁﬁwé:mﬁwﬂ??ﬁﬁm,mmmﬁ@ﬁmaﬁmw
RET &, & WAWIR 2cm @ g{l 9 @M I &1 o9 GaRT Heed faar St arer o e
[ERGIRS

Options :
1. 25x 107 N ey 8fi 1 3R

2. % 25x 107 N et 8T A g¥
3. % 30x107 N el e ¥ 3R
4.% 30107 N ot sfam AT

Question id : 5931 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A solid sphere & a hollow sphere of radius R are rolling down an inclined plane of height h. The
ratio of velocities of Solid sphere to Hollow sphere on reaching the bottom 15

Options :

1. % 21
25
25

2.9 o1

% B
5
4% f5
3

Question id : 5931 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fsar R & v o e 3R @re e T h SE e g9 U a9 o qesan J b

, #del W g | B R @rEer e & 99 & i F g g

Options :

2. !25
21

@ Teachingninja.in



Question id : 5932 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A corona around the moon 1s seen when we view 1t on a fogy or nusty night. This 1s due to:
Options :

1.« Daffraction patterns of air born water droplets

2. # Dispersion of light by air born water droplets

3. ® Scattering of light by air born water droplets.

4. % Formation of diffused image of moon.

Question id : 5932 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
9 §H U IfFe AT JEeN T H GG H SEd & o 59 9l 3R UE WASH S8 Sl ¢ SHE ROT o

Options :

1. arg SIfeld arelt &1 S8 oI dal & faade deet

2. % arg ST arell &1 BIET BIE el GaRT Gehrer & Gehiote
3. % @y SAfla orell HT B B el GaRT e & S
4. % =g &1 fauRa ofd & o

Question id : 5933  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In cold season when lakes freeze. only the top water freezes. Below this layver the water does not
freeze and the aquatic life survives. This happens because of :

Options :

1. # Poor thermal conductivity of ice

2.« The density of water 1s maximum at 4°C

3. # Heat convection does not take place i water.

4. % Low latent heat of fusion of water

Question id : 5933  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afédt & wlam & o9 =il 57 oy & O dad W & O SHAT B 59 W F o

& 9T 6T SHAT 3R STl Siae @97 war £ TS SEieT g § it

Options :

1. % g & ardrg =@rdsar 39aed g &

2. gl F e 4°C R AT Bl &
3. % Ol & FEET T Taed F87 g

4. % Ol & Werde & AT FSAT A el &

Question id : 5934 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The occupancy probability P(E) according to Fermi-Dirac statistics 1s
P(E) = 1/(e(E-EF)/KT +1)
a quantum state whose energy 1s 0.01 eV above the Fermi energy 1s about
. assume a sample temperature of 800K:

Options :
1. % 50%
2. % 60%
3. % 70%
4. 80%

Question id : 5934 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
GHI-SUR Hiasl & FHegaR, FHiaguar dafaferdr P(E) = 1/(e(E-Ep)/AT +1) Uah Famwes

saer _ § ot s e 0.01 eV wAT ST § I §, AW S B v aEer
ATTAE 800K

1. % 50%

2. % 60%
3. % 70%
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4.+ 80%

Question id : 5935 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two masses m] and my are connected by a massless spring of spring constant k.
The system 1s free to oscillate along the length of spring. The system oscillates
with a frequency:

=

>V ITT VN0
™y Wis,
Options :

1 Kk f .
1. S where p = ((mim3z)/(m1+ m))

2. % f where p = ((mim2)/(mi+ma2))

3. % J% where 1 = ((m1m2)/(m1+m2))
4. % ;—H \E where p=((mymo)/(m+ms))

Question id : 5935  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
&l g AT my AR m2 T gcadeRiga e foaer v e k g,

& 2 1 o & wars & a1y Ig Omel gl & & foe waan gl
quTTelT fohestt 3mafea & T g et @

R
& IrIIT VN0
m, ™ i 58

Options :
L & B St = (mimaimy+ m)

) % J% SE U = ((mima2)(me+m2))
3% jg ST 1 = (Mmima)/(m1+my))

4% & [ ot pm(mmymrema)

25 -

Question id : 5936  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Plank’s distribution function 1s given by:

Options :

1. %" 1f(explhew/T) +1)

2. % 1/(explhw/T) — 1)
3. % 1f(expl-hw/T) +1)

4. % 1f(expl-hw/t)-1)

Question id : 5936  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
i &7 AR wole s canT ced [T Fer i

Options :

1. 1/{exp(hw/t) +1)
2. % 1 lexp(fw/T) — 1)
3. % 1l(exp(-fw/t) +1)
4. % 1(exp(-hw/t) - 1)

Question id : 5937 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
At very low temperatures. the heat capacity Cy; of a solid 1s:

Lo L LZIL F2JINAR\ 170 )
2. % (12aNks(T/9)?
3% (120Vks (2)°
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4% (2n*/5)Nks (Z)

Question id : 5937 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

TG FH AGHA W, T S H FCAT aTRaT Cy $AF  fehaadr giel &

Options :
1. (12n*15) Nk T8)?

2. % (120 )Nks(Tig)?
3. % (121{‘)Nk5(§)3
4. % (121T“f5}NkB(§)3

Question id : 5938 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The London penetration depth 15 given by:

Options :

1. ¥ (mc2fhmng)2
2. % (mcmng)l?
3. % (mciidng?yt?
4. % (e’ 4ngHt?

Question id : 5938 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
el USRS 3T S I RS @ arotd @ FTEr g

Options :

1. ¥ (mc2/dnng?)12
2. % (mc2imng?)!2
3. % (mc2/4ng?)!2
4. % (4nmc?/4ng?)'?

Question id : 5939  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Clausius and Mossotti equation 15 given by:

Options :
e+1

® = .
1. -3 = (moa/3e0)
2. z—:; = (noa/3e0)

E+2
3. % S (r0a/3€s)

e+1

® oo
4.8 — =(no0i3e;)

Question id : 5939  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FAraT R AT THEROT 5787 F [ohiieh canr afold fohar Sdm &

Options :
e+l

L% £ = (naf3e)
2.¥ = = (mal3ed)
5% 22 = (nal3eo)
4.8 22 = (mal3eo)

Question id : 5940  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The work done in deforming a body is given by

Options :
1. % StressxStrain

2. é (Stress X Sram)

3. % Stress/Strain

4. % Strain/Stress

U5 & fawuor & frar & 308 O e ga@nn aiord &ar & 8

Options :

1% w x®ed
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2.9 12 (F8 <)
3% T /R
4. % wTEA [ TH

Question id : 5941  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A liquid drop acquires spherical shape due to:

Options :

1. # Gravity

2.+ Surface tension
3. % Viscosity

4. % Intermolecular interaction

Question id : 5941  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
SR o R FROT I &7 HiT Uah g AARhR T TROT Sl &

Options :

1. % IECATHIOT

2. TSERT e

3. % " TeAdr

4. % 3 T Fafrar

Question id : 5942  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In an orbital motion. the angular momentum vector 1s:
Options :

1. ¥ along the radius vector

2. % parallel to the linear momentum

3. % 1in the orbital plane

4.+ perpendicular to the orbital plans

Question id : 5942  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TR FHElT AT H, HIONT a9 Tieen

Options :

1. % Tysar wfeer & @rer g §
2. % YfEe T F GG G
3. % mafro gAeT F T g

4. FETT GHST & oFdded AT B

Question id : 5943  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The Clausms- Clapyron’s equation of latent heat 1s given by:

Options :

dp i

.o =&
dar  T{Vz-v1)
dp L

PRE I —

© 4T T(Vi-vI)

3w 9P _ L7241
dar  v2-vi

4 % 9P - LO2VY
ar V24V1

Question id : 5943  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

FATTT-FOIA T ICd FCAT FT THEROT e garr aftta B s B

Options :

dp L
1.¥ ar | T(vz-v1)
- E

ar  T(vi-vz)

g 4P _ L(V2+V1)

3.% —
dr v2-vi

AD FATI_TPAN

Question id : 5944  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The working principle of pressure gauges for measuring static pressure of a fluid flowing in a pipe 1s

based on
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Options :

1. ¥ Poiseuille’s law
2.+ Bemnoulli’s theorem
3. % Stokes’s law

4. % Hooke's law

Question id : 5944  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TF UET H 9 B a2 & SfaE cag Aa & T g 79 @ wE-ea oW

smenRa 8T &
Options :

1. % disdge @ @
2. gydfer @ v
3. % e @ s
4.% g & foaA

Question id : 5945  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

A double slit experiment 1s performed with light of wavelength 500 nm. A thin film of thickness 2
wm and refractive index 1.5, 1s introduced 1n the path of the upper beam. The location of the central
maxunum will:

Options :

1. # Remain unshifted

2. ¥ Shift downwards by nearly two fringes
3.« Shift upwards by nearly two fringes

4, % Sluft downwards by 10 frmges

Question id : 5945 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
500 nm TECE & Wl & T Ud Sdol ol WaAer AT Sar §1 2 pum "ers

R 1.5 3vadas # v gaer R U8 fGords & au # oens S g1 #@gw
Hfeaas & Tuta == e

Options :

1. % FAEENT §U @ e

2. % ErHEeT @ fihet deh dlie STwelt

3. wEneTer of fiher g FOT STl

4. % 10 Tira deh o< STeel

Question id : 5946  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

In diffraction from a single slit. the angular width of the central maximum does not depend upon:
Options :

1. # Wavelength

2. % Width of the slit

3. % Distance between the slit and the screen

4. % The ratio of wavelength and the slit width

Question id : 5946  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tl fTeie § faada #, dco dAfdaas &1 sivly s sad7 o g w el 78 &

Options :

1% EReced

2. % oo & dters

3. v e 3R o & d el

4. % geed R e $ dis #1 saaa

Subsection : 2, Question Shuffling Allowed : Yes

Question id : 5947 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

; SR . o

where a, b, ¢ are constants. It is given that f{x) is differentiable at x = 1 and

JF0)= f'(2) . Then the value of b 1s
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Options :
1. % 15
2.% 14
3.4 16
4. % 17

Question id : 5947 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

s Sb
et A, Bt f A (=17 T, L W&y
b—ox; b |

L

carT TR R A &, 9 a, b, ¢ FORE §1 9% RO T &

x=137 (0= (29 f(x) ko= &1 aF b F AT =T §
Options :
1. % 15
2. % 14
3.¢ 16
4. % 17

Question id : 5948 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The minimum value of function X exists when x =
Options :

1.v ¢!

2. % E

3. % e’

4. % ¢

Question id : 5948 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

ol X Sl A el o el & ofd x =
Options :

1. gl

2. % E

3.% o e

4% &

Question id : 5949  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The solution of the differential equation %} —3%—2)«' =& is
Options :
1. y=qe +he™ +%e"x
2. % y=ae“+be™+ % e
3. % y=ae +be™ —%e”‘
1

4. % y=ge™ +he™ +—2-e3‘

Question id : 5949  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

djy _3@ 7
& dx

[GE GG LGyl Jy=€&* &I gel 398 & T B

Options :

v ymaetobetsLen

2. % y=ae” +be™ —%eﬁx

1

4. % y=ae™ +be™ +lesjr
2

Question id : 5950 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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~7

- _— . e KR e :
The solution of the partial differential equation — = sin(xy)is
ay

Options :

1. ¢ z=—x"sin(xy) + 3 (x)+g(x)
2. % z=—x"sin(xy) - (x)+g(x)
3. % z=—)"sin()+ ¥ (x)+2(x)

4. % z=x"sin(xy)+ 3 (x) + g(x)

Question id : 5950 Questi1on Type : MCQ (Correct + 1.0 , Wrong - 0.0)

iR fasicer geaTor g=sin(xy)iﬁf A A A TR
oy

Options :

L ¢ z=—x"sin(xy) + 3 (%) + g(x)
2. % z=—x"sin(xy)—xf (x) + g(x)
3. % z=—y*sin(y)+ 1 (x)+g(x)
4. % z=x"sin(xy)+yf(x) +g(x)

Question id : 5951  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Solution of p\/; +q\/|; JE 15

Options :

L% ey =r(dx—z)

2.9 =y = f(¥x -z}

3.8 x—fy=f(Jx 7

4% Jrefy=f(dx+)

Question id : 5951  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
plx+gfy=J-mga s aFME

Options :
1% x|y =f(Vr-E)
2 x-fy=f(¥x-+)
3% Xy =f(Vx )
4% xey = f(Nr+42)

Question id : 5952 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

2 & 5 :
The series ——.——iﬁ——1+ ______ =
Il

Options :

1. % absolutely convergent
2. % Davergent
3. % Oscillatory

4.« conditionally convergent

Question id : 5952 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
5

2 3.4
et F
Options :

1. % oofg: fEEmr
2. % qERT

PRV N . R W W .

Question id : 5953  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let f, (x)=x"vx =[0.1]and for all positive integers n. then
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Options :

1. # <fﬂ} does not converge at any point

2. (f'!) converges at every point but does not converge uvniformly.

3. % <f,,) converges at some points but does not converges at some other points
4.

® (jﬂ:} converges uniformly

Question id : 5953  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
g f,(x)=x"vxe[0.1]¢ 3R @l aacHs qoie & fow o, ar

Options :

1% (f) T o g ov arferaRa =gt gar

Zly(ﬂ,)mﬁgmaﬁiﬁﬁ?m%ﬁﬁmmﬁmﬂﬁ

(f,) ¥ fig = sfEeRa gar ¥ B To s Rigsl w0 sfeRa
=gl gidm

4% (f) vewAE ¥ F FFERT g §

3. 0%

Question id : 5954  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of elements of order 5 in the group Z,; B Z.1s

Options :
1. % 5

2.% 10
3.4 24
4.% 12

Question id : 5954 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Z,®Z80g A %A 5 & Iagdl & GEA S8 § FT ¢

Options :
1. % 5
2.% 10
3.4 24
4. % 12

Question id : 5955 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let Fy. Fgand F ;5 be finite fields of 4. 8 and 16 elements respectively then

Options :

1. " Fis 1somorphic to a subfield of F;
2. % Fis 1somorphic to a subfield of Fg
3. % Fgis 1somorphic to a subfield of Fj4

4. % Fjgi1s1somorphic to a subfield of F 4

Question id : 5955  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
a1 AT B £y Fg dR Fip aTET &9 § 3R 9% 3999 #H9 4, 8 Ak 16 F ar

Options :
1. F; 3981 &1 Fy goaraill &

2. % Fg 398 & Fy Jodieill &
3. % Fup 39T & Fp AN &
4. % Fup 3UBTH &1 Fug qedidll &

Question id : 5956 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The system of equations kx + y+z = Lx+hky+z=kandx+y +kz =&

does not have a solution. if & 1s equal to
Options :
Z.® )

3.% 1
4.4 22
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Question id : 5956  Question Type : MCQ

THEIOT YOl kx + y + 2
e &, AT & & sad O TRad avew &

Options
1. % 1

2.% 0
3%
4.9 2

Question id : 5957

Lx+hky+z=kiRx+y+hkz=idFTmaEea

Question Type : MCQ

The value of x for which the matrix A=

Options :

1. %8 x=_3)
2.4 x=-(A/3)
3% x=-(1)
4.% x=0

x+A

X

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

x X
x+A x| issingularis
x  x+4

Question id : 5957 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

xwmw%ﬁ%m#@wa% x x+i x |fawaor §

Options
1. % x
2.4 X
3.% x
4. % x

Question id : 5958

| x+A X X

.
| x X x+4]

Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
o0 3 -]

The rank of the matrix |

Options
1. % 4
2.8 3
3.4 2
4. % 1

Question id :
01

Options
1. % 4
2.% 3
3.9 2
4. % 1

(¥
—_ - O

Il

[== T

i
(=

1

=1
| &t e @

(== S

1
0

1

-3
1

=1}

5958 Question Type : MCQ

Question id : 5959  Question Type : MCQ

A rigid body moving freely in space has degrees of freedom

Options

s -

3% 9
4.% 4

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

@ Teachingninja.in



Question id : 5959  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

IO H TIad T G NAHT U ok Ts T waaar ST A sad a = &
Options :

l.% 3

2.4 6

3.% 9

4. % 4

Question id : 5960 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The product of generalized coordinates and its conjugate momentum has the dimension of
Options :

1. % force

2. % Energy

3. % linear momentum

4.« angular mementum

Question id : 5960 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
s AGAET & A0 3R SHE IR T F R A4 F FAT
Options :

1. % @0

2. % zFT

3. % Y@ g@aa

4. Folg waaT

Question id : 5961 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
LetX=(3, 2-1),Y=(2,4, 1), Z= (4, 0,-3) and W = (10, 4,-5) be vector in Ra
real vector space. Which one of the following is correct?

Options :

1.% 2X+Z=W,T+Z=W

2.4 2X-Y=Z Y+2Z=W

3.% X+Z=W,2X+Y=2Z

4. % 2Z+ V=W X-Y=2Z

Question id : 5961 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

g ver aredfde @feer Taead W # X = (3 2-7), Y=(2 4, 1),
Z = (4, 0-3) 3% W = (10, 4-5) wfey §1 ar Fafefaa 7 9 s
| A 67

Options :

1.8 2X+Z2=W Y+ =W

22X -Y =L Y+ =W

3.8 X+ =W 2X+ V=2

4.8 272+ Y =W X-VY =

Question id : 5962  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

If T 15 an idempotent linear operator then T is diagonalisable and only eigen values of T are
Options :

1.v Oand 1

2.% land?2

3.% land-1

4. % Qand-1

Question id : 5962 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
gt T v ooraH (@ §hRa § af T Aeoe a9g § 3 T & veAs AfavemeEs

(ITEANT) AT S8 T = g

Options :

- I I £
3.% 1 3k
4% 0 3R -1
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Question id : 5963  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The Gauss Seidal method gives results faster when the pivotal elements are

Options :
1. % smaller than other coefficients
2.+ larger than other coefficients

3. % equal to other coefficients

4. ¥ No relation with coefficients

Question id : 5963  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
I gsse At @i aiona & € oe e daag

Options :
1. % 37y TUTET T g F o o 8
2./ 3w AOTH &7 gl # 93 B ©
3. % 3(F g IOTH F aUeN g

4. % 37e TOTET & WA IS TILT A¢T 6

Question id : 5964 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Gauss forward interpolation formula mvolves
Options :

1. # Ewven differences above the central line and odd differences on the central line
2. % Even differences below the central line and odd differences on the central line
3. ¢ odd differences below the central line and even differences on the central line

4. % odd differences above the central line and even differences on the central line

Question id : 5964 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
IME FRAS HAAT T & 8 § FqT AT ©

Options :

I ¥ &Err W@ & 3 897 Feaane 3R & @ W) G ffSeaan
2.% 58 W@ F o w9 eean sl F @ w e Seae
3.¢ S @ & A fAuE feman s & T W e Seaan
4 % Foe W@ & IR Aen fean AR & @ ) 987 fEean

Question id : 5965 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given data. the maximum value of v 1s grven as

x ] 1 2
¥ 71 15 12

)

"5}

Options :

1.« Atx=11743 v,,.=15.171612
2. % Atx=0.1743, yy,,=15.171612
3.% Atx=-11743 y,..=15171612

~max

4. % Arx=21743. y,..=15171612
Question id : 5965 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
drr BT a1 2er A, v & sfEsad A e e mr #

X -1 1 2 3
v -21 15 12 3

Options :

1. x = 11743, ¥2,=15.171612 &
2.% x = 0.1743, yyay=15.171612 T
3% X = -1.1743, yy=15.171612 W
4.% x = 21743, y,a,=15.171612 =

Nunoctian id « ROKK Nuactinn Tyna « MOCN (Cavvant -1 N Wrana _ N M

by

Options :
1.+ 1
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2. % -1
3.% 2
4.% 9

Question id : 5966 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
z =0 W 22 g safere fraer &

Options :
1.+ 1

2. % -1
3.% 2
4.% @

Question id : 5967 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If z=a is an isolated singularity of f and f(z) i{'{" (z—a)" 1s its Laurent
expansion in annfa;0,R). then z=a 1s a removable szgularity if

Options :

1. aq,=0.n=-1

2.% g #0n=-1

3.% g, =0.nz-1

4. % g #0,n=-1

Question id : 5967 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ae difae & z=a, & qus fawsoar § 3% ann@0,R) & sawr

wiRe ﬁ?ﬂﬁf@hiaﬁ(z—@" %, @ z=a geTv SR A fawaToTaT B,
afe

Options :

1. a,=0.n=-1
2.% g #0.n<-1
3.% a,=0.nz-1

4.8 g,#20.nz-1

Question id : 5968 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In dual simplex method leaving variable position 15 positive after the iteration. then in next iteration
or in some later iterations the variable occupyving the place of this variable in the table

Options :

1. % can become negative

2. % cannot become negative

3. % will always become negative

4, % Will always equals to zero

Question id : 5968 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
sg3rel farcoas fafer & afy geefea & arg o 8w ofE fr fufa garcess ¢

HENAT gAgicd a1 i & T qeRigicd @ dfeler # T wied @Y fEr
Options :

1.V FoleA® & el

2. % FONcHS AFT G Tehell &

3. % EHUT RUMCHS BT

4. % FHAT e & G {rEAT

Question id : 5969 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two vertices of the feasible region P of an LPP are x;=(0. 1. 1. 2) and

x> =(3.0.0.1). Then. a point which cannot be a vertex of P 15

L. ® (L.205,215,D15)
2. % (6.-1.-1.0)
3. % (1/2.5/6.5/6,11/6)

@ Teachingninja.in



4.« (1.2/3.2/3.5/3). (6.-1.-1.0). (1/2. 5/6. 5/6. 11/6)

Question id : 5969 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

T LPP & =Udg &1 P & @ '@ﬁﬁg x= (0, 1, 1, 2) Elicy Xz =(3.0,0,1) g1 ar a8
fag @l &1 & & P & ofnd &6 6 s &

Options :

1. % (1,2/3, 213, 5/3)

2. % (6,-1,-1,0)

3. % (1/2, 5/6, 5/6, 11/6)

4.+ (1,213, 2/3, 5/3), (6,-1,-1,0), (1/2, 5/6, 5/6, 11/6)

Question id : 5970  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The necessary and sufficient condition for a set B to be a subset of A is that

Options :

1. AUB=A
2.% (A-B)mB=¢
3. % (AnB)uB=¢
4. % 4UB=B

Question id : 5970  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A T 3TATE g7 & oI We B &g fera 3R oo o s9H W aw §
Options :

1.v 4UB=4

2.% (A4-B)y~B=¢

3.% (AnB)uB=¢

4. % 4UB=B

Question id : 5971  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The difference between the digit of a two-digit number 1s 4. What 1s the digit in unit's place? To
find out the answer. which of the information given i the statement P and Q 1s/are sufficient.

P: The difference between the number and the number obtained by interchanging the posttions
of the digit 15 36.

Q: The sum of the digits of the number 1s 12.

Options :
1. & only P 1s sufficient

2.+ only Q 1s sufficient
3. % Both P and Q are sufficient

4. % Either P or Q is sufficient

Question id : 5971  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
ET 3T aTell Ueh HET & 3] & A & Al 4§l SHS & TUR 9T Hid @1 IHE g2

IR 9 & T, Fue P R Q # & a5 wla o gEem WA g

P: T AR 3oy i Ul & 399 F "cos O wieg & 15 §E #7397 36 §
Q:  TET F HE T AE 12 §

Options :

1. % Fger P oded &

2.¢ FFae Q AT &

3.% P 3R Q & AT &

4% Irar P 9aTtd § a1 Q 94T §

Question id : 5972  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

) 2

The line [x+my+n =0 is a normal to the ellipse 1— -‘—;—, 1if
a b
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a 4 P (d —ob!)f

LBl
S oom n
1 T M v L%
an B0 BT,
rr m H

Question id : 5972 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

5

grefgea x—i =1 & fow @ k+my+n=0 90T g, I
2

Options :
@ b _@-by

P ow n
_— a b (@’-b) 5
‘ P’ m n
; v a? b‘ (al bﬂ}?
: !2 m: nz
ax @B @by
£ "

Question id : 5973  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The general equation of second degree ax” + 2y +by” +2gx+ 2 fv+e=0

represents a hyperbola 1f
Options :

1. % i <ab

2.8 i =gb

3% peab

4. B =ab

Question id : 5973  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
S HIfE & GHeT THET af + 2y -+ +2gx+ 2 f+c=0Th

sfamae & ganen §, afg
Options :

L% n*<ab

2. % W =ab

3.% B s.Jab

4.« ' =ab
Question id : 5974  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

The value of [ jelxidxis equal to

Options :
1. % (e-1)

2.4 2e-1)
3. % 3re-1)

4. 8 2(l-e)

Question id : 5974  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
1
I=[dldx & m= s & frEd e ¥

-1

Options :

1. % (e-1)
2. 2fe-1)
3. % Jre-7)

A & WT_al

yuexuvn ua : 37/ guesuon 1 ype : ivivy (LUITECL T 1.V, YYIoug - v.v)

¢ ab
The value of | e ——
Y F=)
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Options :

L v 2\ —4x* +log|x¥* +1|+¢
2. % 2Jx+4log|y® +1+¢

3. % 23x—logl* +1l+c

4. % 2fx+ax¥ +log|a¥* +1+c

Question id : 5975  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
geAdras g &7 F9g 9T FAT HT?

'FL.=?

Vx(1+4x)
Options :
L.« 2&—4x”'4+10g|xw—i—1|+c
2.% 2 x+4log|.x)‘”—1|+c
3.8 Eﬁ—log|r"”+1|+r

4. % 2nfx+ax —log|xj‘” +1|—c

Question id : 5976 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The value of definite integral j s’ Feos Gd6 is equal to
b

Options :
Le
32
2.4 3%
32
3. % %)
4. % %
32

Question id : 5976  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fafeaa gAEa jashfacosﬁde & A 58 O fohads aUat &
0

Options :

32

2037
32

3

[

English Language

Section type : Online, Number of Questions to be a pted:20, Mandatory or Optional: Mandatory,
Subsection : 3, Question Shuffling Allowed : Yes

Question id : 5977 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word similar 1n meaning to the word in capital letters

TRANSITORY

Options :
1. % Tnstable

4. % Tnreal

Question id : 5977 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Section Marks: 20.0
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From the given options. choose the word similar in meaning to the word m capital letters
TRANSITORY

Options :

1. % Unstable

2. & TIlusory

3.+ Short — lived

4. % Unreal

Question id : 5978 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word similar in meaning to the word in capital letters
BELITTLE

Options :

I. % Demolish

2.+ Demean

3. % Disapprove

4. % Blame

Question id : 5978 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word similar in meaning to the word in capital letters

BELITTLE
Options :

1. % Demolish
2.+ Demean

3. % Disapprove

4. % Blame

Question id : 5979  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

FLEXIBLE
Options :

1. # Rough
2. Rizid
3. % Blunt
4. % Reliable

Question id : 5979  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

FLEXIBLE
Options :

1. ¥ Rough
2. Rigid
3. ¥ Blunt
4. % Reliable

Question id : 5980  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

SECULAR
Options :

1. % Raghteous
2.+ Religious

3. % Moral
4. ® Spiritual

Question id : 5980 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word opposite 1n meaning to the word in capital letters.

SECULAR

1. % Righteous
2.« Religious
3. % Moral

@ Teachingninja.in



4. ® Spiritual

Question id : 5981 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the question given below. out of the four alternatives. choose the one which can be substituted for
the given words/sentence.

The custom of having more than one wife at the same tume
Options :

1. % Monogamy

2. % Matrimony

3. # Bigamy

4.« Polygamy

Question id : 5981 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the question given below. out of the four alternatives. choose the one which can be substituted for
the given words/sentence.

The custom of having more than one wife at the same tume
Options :

1. % Monogamy

2. % Matrimony

3. # Bigamy

4.« Polygamy

Question id : 5982  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We can look the word in the dictionary

Options :

1. % For

2.« Up

3.% On

4. % Over

Question id : 5982  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We can look the word in the dictionary

Options :

1. % For

2.« Up

3. % On

4. % Over

Question id : 5983  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We should not compromise safety standards

Options :

L.+ On

2. % With

3. % Over

4. % Above

Question id : 5983  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We should not compromise safety standards

Options :

3. % Over
4. % Above
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Question id : 5984 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

Do vou think you can handle situation?
Options :

1.% a

2. the

3. % an

4. % article

Question id : 5984 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

Do vou think you can handle situation?
Options :

1.8 a

2.+ The

3. % an

4. % article

Question id : 5985 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of
the options given at the end of each sentence.

He was fond of playing tennis 1t was his father’s favorite game

Options :

I. % Since

2. % and

3.+ because

4. % quntil

Question id : 5985  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

He was fond of plaving tennis itwas lus father's favorite game

Options :

1. % Since
2. % and

3. ¢ because

4. % yuntil

Question id : 5986 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

Fill 1n the blanks 1n the following sentences by choosing the right world out of
the options given at the end of each sentence
The passengers wear their seatbelts at all the times

Options :
1. ¥ may
2. % Could
3. % might
4.« must

Question id : 5986  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence

The passengers wear their seatbelts at all the times

Options :
1. % may

4.« must

Question id : 5987  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
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In the following sentences there may an error. Choose the part of the sentence
which has the error.
No sooner did the mother reach home when the child started crying

Options :

1. % No sooner did

2. % the mother reach home

3.« when the child started crving

4. % No error

Question id : 5987 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence which has the error.

No sooner did the mother reach home when the child started crving

Options :
1. % No sooner did
2. % the mother reach home

3.« when the child started crving

4. % No error

Question id : 5988 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In the following sentences there may an error. Choose the part of the sentence
which has the error.

He will face serious problems 1f he will not change his attitude.
Options :

1. % He will face serious problems

2.+ if he will not

3. % Change his attitude.

4. % No error

Question id : 5988  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

In the following sentences there may an error. Choose the part of the sentence which has the error.
He will face serious problems if he will not change his attitude.

Options :

1. # He will face serious problems
2.+ if he will not

3. # Change his attitude.

4. % No error

Question id : 5989  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

In the following sentence there may an error. Choose the part of the sentence
which has the error.
I think that between Ram and Suresh Ram is the most intelligent

Options :

1. % T think that

2. % between Ram and Suresh
3.+ Ram 1s the most mtelligent

4. % No error

Question id : 5989 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In the followmg sentence there may an error. Choose the part of the sentence which has the error.
I think that between Ram and Suresh Ram is the most intelligent

Options :
1. % T think that
2. % between Ram and Suresh

3.+ Ram i1s the most intelligent

Question id : 5990  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

They can promise you an experience you won 't ever target
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Options :

1. # They can promise you
2. # an experience

3. % you won't ever target

4. % No error

Question id : 5990  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

In the following sentence there may an error. Choose the part of the sentence which has the error.

They can promise you an experience you womn 't ever target
Options :

1. # They can promise you

2. % an experience

3. % youwon't ever target

4.+ No error

Question id : 5991  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

The dress that the girl wore was more attractive than the other girls

Options :

1. % The dress that the girl wore
2. % vas more attractive

3.« than the other girls

4. % No error

Question id : 5991 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In the following sentence there may an error. Choose the part of the sentence which has the egror.

The dress that the girl wore was more attractive than the other girls

Options :
1. #% The dress that the girl wore
2. % wwas more attractive

3.« than the other girls

4. % No error

Question id : 5992  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Choose which of the following 15 spelt correct

Options :

1. % Malaese

2. % Melaize

3. % Melaise

4. & Malaise

Question id : 5992  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct

Options :

1. % Malaese

2. % Melaize

3. % Melaise

4.+ Malaise

Question id : 5993  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Choose which of the following 1s spelt correct

Options :
1. % Grevance

2. ® Greviance

4. % Grievence

Question id : 5993  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Choose which of the following 1s spelt correct
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Options :

l. % Grevance
2. % Greviance
3.+ Grievance

4. % Grievence

Question id : 5994 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ultra Vires 1s a term used for

Options :

1. % A document corrupted virus

2.+ An act beyond the authority of law
3. # An act authorized by law

4. % Anillegal act

Question id : 5994  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Ultra Vires 1s a term used for

Options :

1. ® A document corrupted virus

2.« An act beyvond the authority of law
3. # An act authorized by law

4. % Anillegal act

Question id : 5995  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Viv-a-vis means:

Options :

l. # Direct

2. ® Opposite

3.+ Face to face

4. & Agree

Question id : 5995 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Viv-a-vis means:

Options :

1. % Direct

2. % Opposite

3.+ Face to face

4. % Apree

Question id : 5996  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
‘Gaft of the gab’ means:

Options :

1. % Gift of hard work

2. % Gift underserved

3.« Gift of being a good conversationalist

4. % Gift from unknown person

Question id : 5996  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
‘Gift of the gab’ means:

Options :

l. % Gift of hard work

2. % Gift underserved

3.« Gift of being a good conversationalist

4. % Gift from unknown person

Section type : Unline, Number of Questions to be attempted:15, Mandatory or Uptional: Viandatory,
Subsection : 4, Question Shuffling Allowed : Yes

Question id : 5997 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Section Vlarks: 15.0
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Select the related words from the given alternatives.
Odometer : Mileage :: Compass :

Options :

1. % Speed

2. % Hiking

3. % Needle

4./ Direction

Question id : 5997 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
f&dr 71 Tasedl & Haleg &gl &1 99 &l

HEERT - Aee - FE

Options :

L% oy

2. % deor odl AT (ESfaT)

3. % qig

4. fearr

Question id : 5998 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the related words from the given alternatives.

Marathon : Race -: Hibernation :
Options :
1. % Winter
2. % Bear
3.« Sleep

4. % Dream

Question id : 5998 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
53 917 Tasedl H Fafad ¥=al & 9ad oY

wrdt s - gls - gIsaene

Options :

1%

2. % ST

3. Feig
4. % T

Question id : 5999  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Select the related words from the given alternatives.

Vigilant : Alert :: viable
Options :
1. % Beautiful
2. % Useful
3. % Simple
4.+ Feasible
Question id : 5999  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
53 717 fasedl H Tafed ¥=al & 9ad oy
FTIE : o - AR
Options :
1. & ﬂaraq
2. % ot
3. % greEoT
4.« FrEg

Amnesia : Memory :: Paralysis :

Options :
1. % Handicapped
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2.+ Movement
3. % Legs

4. % Limbs

Question id : 6000 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
&& 717 Taskedl H Halad =g & T Hi|

feareaToT: T - F7har -

Options :

1% faametar

2. grcdrefieran

3% g

4. ® _3.!—;[

Question id : 6001 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In the following question a letter series 1s given. in which some letters are missing. The missing
letters are given m the proper sequence as one of the alternatives. Choose the correct altemative
ba—ba—bac—ach - c abc

Options :

l. % aach
2. % bbea
3.4 ccba

4. % cbac

Question id : 6001 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

fFrEafatad yea & vk av7 &4 &g 79 §, SEH &S a1 dquiud &) e o
faweT & ¥7 # Rud aof 3Ra &7 # &Y aw 81 76 GFew & === a0
ba — ba —bac — ach - c abc

Options :

l. % aach

2. % bbea

3.4 ceba

4. % chac

Question id : 6002 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Inn the following question a letter series 1s given. in which some letters are missing. The missing
letters are given in the proper sequence as one of the alternatives. Choose the correct altemnative

bca—b —aabc—a—caa
Options :

1. % acab

2. % bebb

3.4 cbab

4. % ccab

Question id : 6002 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TETafEg ved & v aor &H fear I ﬁmﬁgﬂaﬂ‘rﬁaﬁﬁ‘zm%! forar T
faeT &9 A Jufcud ao1 3f@a &8 # & v 81 961 fGweT & 937 &

beca—b—aabc—a—caa
Options :

1. 8 acab

2. % bcbb

3.4 chab

4. % ccab

Question id : 6003  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If in a certain language MADRAS is coded a NBESBT. how 1s BOMBAY coded i that language?

(WYL IWTE .Y

2.+ CPNCBZ
3. % CPOCBZ
4. % CQOCBZ
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Question id : 6003 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

e fdy @fgaa smar 3 MADRAS &7 NBESBT &S f2dr Sirar &, o st siar &

BOMBAY &l @his &1 GEM?
Options :

. % CPNCBX

2.+ CPNCBZ

3. % CPOCBZ

4. % CQOCBZ

Question id : 6004 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
If SCIENCE is coded as UFJTIM. then GENE will be coded as:

Options :

1.« HGQI
2. % THRJI
3. % THRI
4. % THST

For the above question, User had specified 'full' during keys upload.

Question id : 6004 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
7fe SCIENCE & 5 UFJTIM &, AT GENE &7 @15 4T {197

Options :

1.« HGQI
2. % THRI
3. % THRI
4. % THSJ

For the above question, User had specified 'full' during keys upload.

Question id : 6005 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following pairs 1s different from the rest three?

Options :

1. % Twigs: Nest

2. % Gold : Ornaments
3.+ Picture : Pottery

4. % Wood : furniture

Question id : 6005 Question Type : MCQ (Correct+ 1.0, Wrong - 0.0)
SAF T FiF HT ST FeT did G 3o 87

Options :

L% om@me : gren
2. % TEOT : TEAOT
3. TR FEe
4.% {_”Ia1_5‘_ o U_'"lﬂ

Question id : 6006 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following pairs 15 different from the rest three?

Options :

1. & Tongue : Taste
2. % Eye:Blind

3. % Ear : Deaf

4. % Leg:Lame

Question id : 6006 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Trafafg & & FiF a1 er 3= d9 § 3o i

LT R P Ty
2. % 3T a7ew
3. % oTel: FEAT
4. % 83 opETET
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Question id : 6007 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following pairs 15 different from the rest three?

Options :
1. % Mercury : Sun
2. % Moon : Earth

3. % Wheel : Axle
4.« Star : Galaxy

Question id : 6007 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Teafafad & & o9 @1 S 3wg de & 3T 2

Options :

L% g 3fd

2. % =g @ gl
3. % ofgar: =

4. gRT: FEEEET

Question id : 6008 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Arrange the following words according to the English dictionary.
1 Republic 2. Remember 3 Report 4. Repeat 5. Repeal

Options :

l.«2.5.4.3.1
2.% 3.2.1.4.5
3.% 5.2.4.1.3
4% 5.1.4.3.2

Question id : 6008 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FST eregeptel & AU TAFATREd ereal ® sqaead $i

1 Republic 2. Remember 3 Report 4. Repeat 5. Repeal

Options :

l.«2.5.4.3.1
2.% 3.2.1.4.5
3.% 5.2.4.1.3
4% 5.1.4.3.2

Question id : 6009 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

Sunil 15 heavier than Abhinav but not as heavy as Rajrv. Abhinav is heavier than Jayesh. Kashi 1s
heavier than Sunil. But Sunil 15 not as heavy as Rajiv. Who 1g the heaviest?
Options :

1.+ Sunil

2. % Abhinav

3. % Rapv

4. % Kashi

For the above question, User had specified 'full' during keys upload.

Question id : 6009 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
geiar, 3ifeiea F ol § ofhe Telia Siaer @ sifeea, oder & & &1 Fel, gl
T a1l &) A geier, TSta foidar ol F6T 8 a1 S § ded s Sl 87

Options :
L. & geirel

2. % sfaeg
3. % et
4. % et

Quesuon 1a : oviv Quesuon 1ype @ vieyg (uorrect + 1.v, yvrong - v.v)

A woman said to a man. The daughter of vour only sister is the sister of my husband. What is the
relation of the man’s sister to the woman?

Options :
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1. % Mother
2.+ Mother —in — law
3. % Sister

4. % Data madequate

Question id : 6010  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Wﬁﬁwwﬁaﬁmmmmﬁaﬁmqﬁﬁmhmwaﬁ
a5 & T 39 O & A @ Rear 7

Options :
1. % gi
2.« @™
3. % dgd

4. % ygureg gz

Question id : 6011  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A man walles 1k towards East and then turns to South and walks 5 km. Again he turns to east and
walks 2 k. after then he tumns to North and walks 9 k. How far 1s he now from his starting powmt?

Options :

L% 3km
2. % 4%km
3.4 Skm
4. % Tkm

Question id : 6011  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
wF AEAT 99 T R 1 R e § B gfarr @ 3R Asax 5 fRAL 9o 81 @

Y & od 7 3R A 2 FAL =ear &) 39% a1g 97 3ea] G A 9 FRAL TeEr

3T IF I URTEF fag & Bhae g W &

Options :

L% 37RATn
2. % 4fHaT
3.9 s e
4. % 7 TR

General Aptitude/Numerical Ability

Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0

Subsection : 5, Question Shuffling Allowed : Yes

Question id : 6012  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

Find out the missing numbers in the following series:
12,15: 1417719

Options :

1% 18

2.4 16

3.% 13

4. % 15

Question id : 6012  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
rFaAfafad Avfl 7 e §=r aaqr w3
12,15 141772 19

Options :
1.# 18
2.4 16
3.8 13

Question id : 6013  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Arrange the followimng fractions mn the descending order:
O3 B oM

- 779
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Options :
1% %
]

3 1

w | ra
3

I e

w |6

2.8 2 )
’ 7 3

&
3

3¢ 2,

|

o
w |

4. %

o | e
|
0| e

4
F

Question id : 6013  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
HaUET & A fArafaf@a e a0t o caafeua &1

154 8
5353774
Options
L& #2381
9°B 773
2. % 2 AR
. 7 8787
5 5.E 4
J off = — = =
v g7 E e
2 4 ‘1. .3
4% =2 2 2
- Sl B

Question id : 6014 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The maximum number of devotees among whom 340 oranges. 430 apples and 630 bananas can be
distributed 1 such a way that number of oranges. apples and bananas remains the same 1s

Options :

1.+ 85

2. % 90

3.% 30

4. % 105

For the above question, User had specified 'full' during keys upload.

Question id : 6014 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

ST T 1T HET T § foeTe afe 540 HeRY, 450 B 3 630 el S1¢ SATT, AT Tedeh Hehdl & IT8 HALT, Hail 31T Frell T HEAT HHTT @2
Options :

1.+ g5

2. % g

3.% 80

4. % 105

For the above question, User had specified 'full' during keys upload.

Question id : 6015  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

Kiran had 85 currency notes in all some of which were of 100 denomination and the remaining of 30
denomunation. The total amount of all these currency notes was Rs. 5000. How much amount did she
have in the denomination of Rs 507

Options :

1. « Rs.3500
2. % Rs. 4000
3. % Rs.4200
4. % Rs.4500

Question id : 6015  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

&R0 & ITE el 85 wie A, HeH § §¢ 100 F99 & F R a6 50 &9 & 9 IR
3 WX AT & FeT AT 5000 T o, A 3T T 50 T F Al 7 FAr A
ofr?

Options :

L.+ 3500 w9

4.% 4500 FI

Question id : 6016  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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The sides of triangle are in the ratio of;l; H ; d %and its perimeter 15 104 cm.

The length of the longest side is:
Options :
1% 52cm
2.+ 48 cm
3.% 32em
4. % 26cm
Question id : 6016  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
I 1 1 . .
o Dagst <t sgsme e o S & seqara A § AR sEwr aRanT 104 T &
ar Brers & @Rt agt spen Y awars Readr gefr?

Options :

L% soga.
2.4 48 AT
3.% 2@
4. % 26 AT

Question id : 6017  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
In a school. 10% of the boys are the same in number as iﬂl of the girls. What 1s
the ratio of the boys to girls in that school?

Options :
1.% 3.

[§]

2.4 5.2
3.% 21
4.% 43

Question id : 6017 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

THel A shl HI TE&AT F 10%, asﬁm"r#ﬁwa‘?% %WE‘,H’[EH‘?{
# ol 3R oAl f S & saaa a4 g2

Options :
1.8 3.2
2.4 5
3.% 21

i
2

4.% 43

Question id : 6018 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a sum of money at simple interest doubles In 6 vears. it will become 4 times in:
Options :

1. % 12 years

2. % 14 vears

3. % 16 vears

4.« 18 years

Question id : 6018 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ifg WROT =TS X UF UM 6 A I g &7 S &, 95 U fas @ 7 AR
AT {1 SATTE?

Options :

L& pae &
2.8 4@ H
3.% 169 A
4. 1g@Ter H

Question id : 6019  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A librarv has an average of 310 visitors on Sundavs and 240 on other davs. The average number of

Options :
1. % 250

2. % 276
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3. % 280
4.+ 285

Question id : 6019  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
U TEAHCT A IGAR F e T 510 HEEE 3 £ AR 3w R & sad
T 240 giell &, dr WaaR & o gl arer 30 ol & Ues A I Mgl i HEd

Options :

1. % 250
2. % 276
3.8 280
4. 285

Question id : 6020 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Six vears ago. the ratio of the ages of kunal and Sagar was 6:5 four vears hence. the ratio of their
ages will be 11:10 what 15 Sagar’s age at present?

Options :

1.« 16 vears
2. % 18 years
3. % 20 vears

4. % 22 vears
Question id : 6020  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

T WO G50 FHONSl 3R HER AT 3H F AT 65 AT I F AN Fiel 91 IAGT IH
T 3T 11:10 @) §ER #7357 306 = 87

Options :

.« 16 9Tl
2. % 189@reTr
3.% 209
4. % 229

Question id : 6021  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

If there 1s a profit of 20% on the cost price. then the percentage of profit on the sale price is:
Options :

L.V 162 %

2. % 1720,

3.% 1520

4. % 16%

Question id : 6021 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT A Fed W 20% HT o1 A &, o e Aed W Fhclaln YTcerd ey gem?

Options :

lL.v 162 9%

2. % 120,

3.% 152%

4. % 16%

Question id : 6022  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Mr. Krishna purchased a flat for Rs. 9,25.000 and spent Rs. 35000 on its renovation. If he sold the
flat for Rs. 10.80.000. then the percentage of his profit is:

Options :
1% 15%
2.% 1735%

3 ® 9oz

Question id : 6022  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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#r. FEOW F 925000 T F TH Fole Wl AN FHE AT F 35000 T @H W
feu, afg =gl 5H Wolv &7 10.80.000 9 H o= 27 &1, a7 306 Trden ufgerd oms
T&er?

Options :

1® 130

2.8 17.5%

3.% 20%

4.+ 12.5%

Question id : 6023  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If 6 men working & hours a day earn Rs 1680 per week. then 9 men working 6 hours a dav will eam
per week:

Options :

I. % Rs 1680
2. % Rs1920
3. % Rs 2680
4.+ Rs 1890

Question id : 6023  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afg 6 HEHAT § TUHART F Tleh 57 Toais 1680 T4 FAT §, o 9 @fed 6 T/
ufafes & =g Y &% HealE Tehder HaAT?

Options :

I % 1680 w92
2. % 10920 wOI
3. % 2680 T
4.+ 1890 FUI

Question id : 6024 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

A pipe can fill a tank with water in 3 hours. Due to leakage in the bottom of the
tank 1t takes 3 %hours to fill it. In what time will the leakage empty the fully
filled tank?

Options :

. & 12 hours

2. % 15 hours

3. % 18 hours

4.+ 21 hours

Question id : 6024 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U UISY U & &1 3 0 A #XaT gl & A Al A 3¢ gl & HRUT Ig 3- G
A o Ural {1 FF B R M gU EF H fhdd @A A @relr # qan?

Options :

L& 1pge
2. % ligi—a-
3.% 18
4.4 219

Question id : 6025 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A can travelling at a speed of 40 km/h can complete a journey in 9 hours. How long will it take to
travel the same distance at 60 km/h ?

Options :

1. % 6 hours
2. % 5hours
3. % 4hours
4.+ 3 hours

Ouectian id < A0NS Ounection Tvne - MCO (Carrect +10 Wrano - 0

Y W S €T g A P W A 9 A e

Options :
I & gae
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2. % 5T
3.% 4ugr
4.« 392

Question id : 6026  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A man completes -Z' of a job 1n 10 days. At this rate how many more days will
he take to finish the job?

Options :

l.% 5

2.

3. %

-~ & O

4. ®

Question id : 6026 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

U cafFd Uk M @1 - A6 10 Rl F G AT §1 59 X § a5 F N [ A A

forael foa 3T semem

Options :
l.% 5

2.
3.8

-] 3 O

4. &%

General Knowledge/Awareness

Section type : Online, Number of Questions to be attempted:10, Mandatory or Optional: Mandatory,

Subsection : 6, Question Shuffling Allowed : Yes

Question id : 6027 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The words “Satyameva Javate in the National Emblem are taken from:

Options :

I. # Kenupnishad
2.+ Mundaka upnishad
3. % Isha upnishad

4. % Ganga upnishad

Question id : 6027 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
TSR welieh # eeg Teada S T forr == £

Options :

I % el 30faTug

2.« Hs$ 39TAYG,

3. % gar 3ufaug

4. % JmEm Fufeug

Question id : 6028 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Chinese traveller Hiuen-Tsang studied at the university of

Options :

. % Taxila

2. % Vikramshila
3. % Magadh
4.+ Nalanda

Question id : 6028 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

=il Al E AT (Hiven-Tsang) & Tohe Taeafacarers & segaer fhar ar?

(N TYR YRS

2. % TamaAfrer

3. % gyareEr

4. FAreier

Section Marks: 10.0
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Question id : 6029  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following Silch Gurus was beheaded by Aurangzeb?

Options :

L. % Guru Ramdas

2.« Guru Teg Bahadur

3. % Guru Arjun Dev

4. % Guru Gobind Singh

Question id : 6029  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
frafafaa # ¥ 3iResa canr ald & @ 7% &1 W dod f&ar 74 oar

Options :
I % 9% AR

Question id : 6030  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Bhikaji Cama was a :

Options :

1. % Painter

2. % Poet

3.« Freedom fighter

4. % Scientist

Question id : 6030  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
HraErstt A vE S

Options :

l. % FEEr

2. % Ffx

3. Eacar e

4. % Yomfes

Question id : 6031 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Name the Indian Cricleet legend who was honoured with “Life Time Achievement Award™ in the
House of Lords in London on September 25. 2014,

Options :

1. & Kapil Dev

2. % Ravi Shastri

3. % Saurav Ganguly

4. % Sunil Gavaskar

Question id : 6031 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

3T SR fRex & 7 gare S 25 Gaet 2014 #7 oga & §Eg Hw aew 7
oIS TI5H Helade 3as § GFAfad far arar ar?

Options :

I« wfde g

2% IfF em=h

3. % FRa e

4. & Felter TMIEHY

Question id : 6032  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

With which game is the term “Advantage” associated?

Options :
l. % Billiards

3.+ Lawn Tennis
4. % Badminton

Question id : 6032  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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frafafaa & 9 vsaes wsg fFE @9 ¥ ET 2

Options :

I % fafeersw

2. % rger raw

3. o e

4. % f=firea

Question id : 6033  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Pt Ravi Shankar 15 a renowned :
Options :

1. % Table plaver

2.+ Sitarist

3. % Violinists

4. % Sarangi player

Question id : 6033  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afgq W 9iee ve Ul &l

Options :

L% 299 @R

2. T@anacH

3. % grafeaes

4. % grEf ags

Question id : 6034 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
"Arjun Award’ 1s given for:

Options :

1. % Bravery on the battlefield

2.« OQutstanding performance in sports
3. % Exceptional service in emergency

4. % Environmental studies

Question id : 6034 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
3ol TEHR e Siar 1

Options :

I & e & fem & @ & oo

2. @or & Hee # @erer yedia & §e
3. % NUgere & THY ISR 94T & feu
4 % goieRer & eEEe & v

Question id : 6035 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The longest state(in terms of area) in India 1s:

Options :
1. % Madhya Pradesh
2. % Andhra Pradesh

3. % Maharashtra
4. « Rajasthan

Question id : 6035 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
HRA H TG ofall T (8Tl & Heal #)

Options :

L% meer geer

2. % 37er g

3. % HABNIST

4. STEATT

Who propounded the Quantum Theory?

Options :
1.« Albert Einstein
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2. % Max plank
3. % Heisenberg

4. % Max well

Question id : 6036 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FaicH Gad e gfgaricd R am?

Options :

l. & 3rea¢ 3MSEEA (Albert Einstein)
2. % g ofw (Max plank)

3. % grsaidadl (Heisenberg)

4. % Heag aw (Max well)
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